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If num1 1s 0005 and the address of num1 15 0117 then after execution of instruction "mov ax, [num1]", what will be contents of AX register 7

Answer ( Please click here to Add Answer )
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Following are three common wideo services for INT 10 used i text mode. Identifyy the use of each wideo service which 1s listed below. -

0. AH=00h
1. AH=01h
2. Ah=02h

Answer ( Please click here to Add Answer )
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What 1s the format of input buffer of DOS? -

Answer ( Please click here to Add Answer )
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In assembly language programming, which mformation 1s represented by descriptor's first 16-bits? -~

Answer ( Please click here to Add Answer )
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Which two mstructions are used to check whether particular bits are set or not? How these two mstructions differ from each other? -

Answer ( Please click here to Add Answer )
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In case of branching techniques used in Intel’s architecture, which mstruction 1s used to prowide temporary diversion and how? B

Answer ( Please click here to Add Answer )
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Which processor's mstruction set allows the following mstructions and describe what task will be performed by each of these mstructions? B

CLR (A3)
EXG D0, D2 |
MOVE.B (A1), (A2)

MOVEA (2222).L, 44

Answer ( Please click here to Add Answer )
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What are attributes of chargen wideo service for getting information about font of the text?

Answer ( Please click here to Add Answer )
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In BIOS wideo services, which specific services in text mode are mvoked by the following values of AH register? -
AH=01
AH=02
AH=06
AH=07
AH=0% 5

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min) =

A
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Question No : 41 of 52
For which purpose INT 1 15 used and describe the functionality of this interrupt?

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min)

Question No : 42 of 52

What are different register settings for file closing using INT 21 service?

Answer ( Please click here to Add Answer )
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Question No : 43 of 52

Marks: 2 (Budgeted Time 4 Min) =

In C language, what naming convention 1s used to call a function ?

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min) =
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Question No : 44 of 52
Wnte a single instruction that can be used as an alternative of the following two mstructions?

DEC CX
JNZ NextChar
&
Answer { Please click here to Add Answer ) mm
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Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) =

A

Suppose we want to execute multiple processes at same time. For this purpose we need to store and restore states of processes running i a multitasking operating system. Which process 15 used to -
store and restore states of processes in a multitasking operating system.

Answer { Please click here to Add Answer ) mm
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Marks: 3 (Budgeted Time 6 Min) |=
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Question No : 46 of 52
Consider the function "int subtract (int x, int y)" declared i C, Wnite the code to call this function from Assembly language.

Answer ( Please click here to Add Answer )
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Marks: 3 (Budgeted Time 6 Min) |=
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Question No : 47 of 52

For what purpose Global Descriptor Table (GDT) 15 used?

Answer ( Please click here to Add Answer )
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Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min)

Check these instructions, whether they are valid or not, if not why? Make corrections and also mention how many bits have been moved in each mstruction?

mov ax, [num1]
mov al, [num1]
mov ax, al
mov [muml], 5

Answer ( Please click here to Add Answer )

N B aa| o o d |0l a 9| e o=l
Normal .ll Arial i || L] B 7 U H—ég =

I bliE

[«

2

-
1Y
I'1l
¥
(7]}
el
]

[

il

YNade by: Yy/aqgar Siddhe




Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min) |=

=

mov ax, [num]]
mov al, [num1] J
j

mov ax, al
mov [numl], 5
mov byte[numl], 5

(
Answer { Please click here to Add Answer ) mm
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Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)  |=

Which processor's mstruction set allows the following mstructions and describe what task will be performed by each of these mstructions?

CLR (43)
EXG D0, D2 |
MOVER (A1), (A2)

MOVEA (2222).L, A4

(
Answer { Please click here to Add Answer ) mm
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Marks: 5 (Budgeted Time 10 Min) i

Question No : 50 of 52

What 15 the effective address generated by each of the following mstruction?
Initially B3X=0x0100, label=0x0234, [label]=0x0010, and SI=0x00E1

a. mov ax, [bx+40]

b. mov ax, [bxtlabel]

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min) i

Question No : 51 of 52
In INT 10 of wideo services while writing graphics pixel, what do the values of registers BH, AL, CX and DX correspond to?

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min) i

Question No : 52 of 52

What are different register settings for memory allocation using INT 21 Serwice?

Answer ( Please click here to Add Answer )
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For which purpose INT 1 15 used and descnbe the functionality of this nterrupt?

Answer ( Please click here to Add Answer )
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What 15 programmer’ s view of processor?

Answer ( Please click here to Add Answer )
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We have 16 bit (word) mnformation for dewice attribute. For what specific purpose the fifteenth bit 1s reserved? -

Answer ( Please click here to Add Answer )
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Write the complete command to assemble ABC asm using NASK

Answer ( Please click here to Add Answer )
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What 1s the range of addressable memory in protected mode and which register 15 used to reference the descriptor for the Stack segment? -

Answer ( Please click here to Add Answer )
e EE R o o =] VuAnswers.com

II'.J»:nrm:al _VJ |.E.ri:al L.l Ilu L] B 7 U ”_g—

1l
il
il
i
i
il

L YNade by: Yy/aqar Siddhe




How many routines are required to be defined by a dewice driver and what are thewr names? ~

Answer ( Please click here to Add Answer )
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suggest a modification in the design of 8088 Processor Architecture such that it can support 16MMB RAM? -

Hint: It will require increase or decrease m Address bus lines.

Answer ( Please click here to Add Answer )
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What are two different modes of wideo services of BIOS? And differentiate between both of modes.

Answer ( Please click here to Add Answer ) I
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How many pins are used for senal port communication and which types of communication occur through senal port pins?

Answer ( Please click here to Add Answer )
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Which processor's mstruction set allows the following mstructions and describe what task will be performed by each of these mstructions? =

CLR (A3)

EXG D0, D2 |
MOVE.B (A1), (A2)

MOVEA (2222).L, 44

Answer ( Please click here to Add Answer )
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Write a subroutine to calculate the string length.

Answer ( Please click here to Add Answer )
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Explamn the purpose of Assembly language mstructions from 1 to 4 lines as given below.

1. mov si, 12

2. mov al, [cs:si]

3. mov [opcode], al

4. mov hyte [cs:si], 0xCC

Answer ( Please click here to Add Answer )
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5.12: 1inc ax =
6. add bx, 2

7. deccx
8. sub dx, 2
9. jmp 12

Answer ( Please click here to Add Answer )
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Question No : 41 of 52 Marks: 2 (Budgeted Time 4 Min) (=
Define following abbrewiation &
® Dw
Answer ( Please click here to Add Answer )
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Question No : 42 of 52 Marks: 2 (Budgeted Time 4 Min) (=
What 15 the purpose of Triple fault 7 &
.2
Answer ( Please click here to Add Answer ) mnswerm
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Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) E
Write an assembly mstruction that will allocate space for 32 PCBs? &
VuAnswers.com =

Answer ( Please click here to Add Answer )
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Question No : 44 of 52 Marks: 2 (Budgeted Time 4 Min) E
In order to switch “Protected Mode”, which bit of CRO (Control Register 0) 1s needed to be turn on? &
VuAnswers.com =

Answer ( Please click here to Add Answer )
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Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) (=
Identify the technique i which user feels that programs are running at the same time and elaborate that how this technique works 7 &
2
VuAnswers.com

Answer ( Please click here to Add Answer )
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Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min)

E

How anthmetic operations mstructions are written by Sun SPARC and by Motorola 68K Processor? State your answer with at least two examples from each processor.

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) (=

What are the results after performing the following imstructions, where ax =00110011 and bx = 00010001 &
1.and ax bx
2.0r ax,bx
3.xor ax,bx
2

Answer ( Please click here to Add Answer )
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Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min) (=

What are the values required for following registers to wnte a character on senal port using INT 217 &
AH R
AL S R RS
DX et
2

Answer ( Please click here to Add Answer )

B

N E&a| 4 e o (48| E ol Gl 9@ [0 =]
Ir«lormal ‘V_”Anal L“k LI B 7 HI = = o

1l
Il
Ll
Il
i
i

YNade by: YY/aqar Siddh




Marks: 5 (Budgeted Time 10 Min) =

Question No : 49 of 52
Which mstruction makes trap flag zero? If there 1s no such mstruction then how this task 1s petformed?

Answer ( Please click here to Add Answer )
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Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min)  |=

Which processor's instruction set allows the following mstructions and describe what task will be performed by each of these instructions?

CLR (A3)
EXG DO, D2 |
MOVER (A1), (A2)

MOVEA (2222).L, A4

Answer ( Please click here to Add Answer ) mnswerm
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Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min)  |=

How these mstructions are legal or illegal. If illegal tell the reason and how can we make this legal, if legal then what these mstructions do.

: mov ax, bx

a. mov 10, ax
b. mov bx, [num?2] -
G, mov [num1],[num?2]

Answer ( Please click here to Add Answer ) mnswerm
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Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min)  |=

mov ax, bx
mov 10, ax
mov bx, [hum?2]

mov [num1],[numa]
add [num?2],[num1]

Answer ( Please click here to Add Answer ) mnswerm

A R AR el a |
Ir«lormal ‘V_”Anal L“k LI B 7 U H;g

@ o0 oo

Wi ; l
L

1l
Il
Ll
Il
i
i

YNade by: Yy/aqar Siddhe




Marks: 5 (Budgeted Time 10 Min) =

Question No : 52 of 52
Write an assembly program attributes for loading program using INT 21 Serwice.

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min) IQI
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|Question No : 41 of 52

How the data 1s transferred in senal communication?

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min)

|Question No : 42 of 52

How to identify masumum possible speed of multitasking?

Answer ( Please click here to Add Answer )
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|Question No : 43 of 52

Marks: 2 (Budgeted Time 4 Min) IQI

In what order, the parameters are passed to routines m Pascal language?

e

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min) IQI
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|Question No : 44 of 52

“Interrupts are asynchronous” What does it mean?

Answer ( Please click here to Add Answer )

NeEaa| s =& ol
| JArial Az sz ufE===|:

LT

1M
U
o
(")

Il\lu:lrm:al

YNade by: YWaqgar Siddhu




|Question No : 45 of 52

Marks: 3 (Budgeted Time 6 Min) IQI

In context of Disk media, how many bytes are reserved for each of the following parts in “32 bytes directory format™?
® Extension

® Time
® Date

Answer ( Please click here to Add Answer )
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Marks: 3 (Budgeted Time 6 Min)

|Question No : 46 of 52

Write the functionality of following bits m IDTR
e P

e DPL
* 3

Answer ( Please click here to Add Answer )
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|Question No : 47 of 52 Marks: 3 (Budgeted Time 6 Min)  [=]]

Give the value of the zero flag, the carry flag, and the sign flag after each of the following instructions if AX 1s mitiahzed with 0x1254 and BX 1s mmtiahzed with

0xOFFF.
a. add ax, OxEDAB

b. add ax, bx
¢. add bx, 0xF001

Answer ( Please click here to Add Answer ) [uAnsuer_Svcom
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Marks: 3 (Budgeted Time 6 Min) IQI
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|Question No : 48 of 52
How many flags that are not used i mathematical operations and also mention thewr names?

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min) (=]

N

|Question No : 49 of 52

How many types of mterrupt are used for writing debugger and also elaborate functionality of these interrupts with proper explanation?

Answer ( Please click here to Add Answer )
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_Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) EI

Calculate first and last physical address accessible by the following segment values:

a. 0001
b. EOO0O

Answer ( Please click here to Add Answer ) Vuhswersvcom
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_Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min) EI

Which mterrupt 15 used to write Disk System and how can we wnte this system? Also mention (any four) attributes which are used in this service. =

Answer ( Please click here to Add Answer ) uuAns‘werSTcom
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Marks: 5 (Budgeted Time 10 Min) (=]
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|Question No : 52 of 52
Constder the function “int multiply (int x, int y ); ” declared in C, Wrte the code to call this function from Assembly language.

Answer ( Please click here to Add Answer )
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|Question No : 41 of 52

Marks: 2 (Budgeted Time 4 Min)  [=J|
Dewvice drivers are operating system extensions which extend its services to new dewices. Describe the structure of “Dewice Dnver File” which 1s used for device management.

a~

Answer ( Please click here to Add Answer )
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|Question No : 42 of 52

Marks: 2 (Budgeted Time 4 Min)  [=J|

With reference to branching technique used i assembly language programming, write any two control mstructions.

a~

Answer ( Please click here to Add Answer )
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Marks: 2 (Budgeted Time 4 Min)

|Question No : 43 of 52

How local thread vanables are created and accessed 7

Answer ( Please click here to Add Answer ) ‘l I] A n S!llegs cgm
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Marks: 2 (Budgeted Time 4 Min)

|Question No : 44 of 52

What are the following statements represent?

gdt: dd 0x00000000, 000000000
Answer ( Please click here to Add Answer ) vuAn_swep-sTc_Qm
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|Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min)  [=J|

a~

What are the inportant “command codes™ i request header of dewvice driver?

Answer ( Please click here to Add Answer ) vuAn_swepsrcmn
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|Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min)  [=J|

In order to access Video memory in high resolution (more than a megabyte MB), what standard we have to use?

a~

Answer ( Please click here to Add Answer )
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Marks: 3 (Budgeted Time 6 Min)

|Question No : 47 of 52
Descnbe "Indexed Register Indirect + Offset" addressing mode with an example.

Answer ( Please click here to Add Answer ) ‘l I] A n S!llegs cgm
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|Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min)  [=J|

With reference to the multitasking program "TSR. caller”. Describe what task will be performed by each of these mstructions? ~
® mov al, [charsthx]

®* mov [es:40], al
® inc bhx

Answer ( Please click here to Add Answer ) vuAn_swepsrcmn
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|Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min) =

How many types of interrupt are used for writing debugger and also elaborate functionality of these mterrupts with proper explanation?

S

Answer ( Please click here to Add Answer )
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|Question No : 50 of 52

Marks: 5 (Budgeted Time 10 Min) =

What are the contents at the starting posttion of the file designated as dewice dnver and mention important attributes of this dnver file?

S

Answer ( Please click here to Add Answer )
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|Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min)  |=]|

At which location interrupt gate descriptor table 15 stored and describe the structure of this table with an example?

S

Answer ( Please click here to Add Answer )
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|Question No : 52 of 52 Marks: 5 (Budgeted Time 10 Min)  |=]|

Give the new values of A3 and DX for each of the following instructions, or wnte if the overflow occurs. -
. DIV BX, f DX contains 0000h, A3 contains 0007h, and B3 contains 0002h
a. DIV B3, f DX contains 0000h, AX contains FFFFh, and BX contains0010h

Answer ( Please click here to Add Answer ) vuAn_swepsrcmn
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